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1. A minimal unit of meaning or grammatical function is called_____________. 

a. Semantics 

b. Syntax 

c. Pragmatics 

d. Morpheme 

2. How many minimal units have in the word ‘reopened’? 

a. One 

b. Two 

c. Three 

d. Four 

3. How many minimal unit in the word ‘tour’ 

a. One 

b. Two 

c. Three 

d. Four 

4. Free morpheme can be 

a. Stand alone 

b. Not to stand alone 

c. Dependent 

d. allomorph 

5. Bound morpheme can be  

a. Stand alone 

b. Not to stand alone 

c. Independent 

d. allomorph 

 

6. Prefix and suffix come to under the category of which morpheme? 

a. Free morpheme  

b. Bound morpheme 

c. Lexical morpheme 

d. Inflectional morpheme 

 

7. Which can be identified as set of separate English word forms such as basic 

nouns, adjectives and verbs? 

a. Free morpheme  

b. Bound morpheme 

c. Derivational morpheme 

d. Inflectional morpheme 
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8. Identify the stem in the word ‘undressed’ 

a. un 

b. dress 

c. ed 

d. undressed 

 

9. Identify the stem in the word ‘carelessness’ 

a. care 

b. less 

c. ness 

d. carelessness 

 

10. the basic word forms are technically known as _______ 

a. semantic 

b. stem 

c. partial 

d. bound morpheme 

 

11. lexical morpheme comes under the _______ 

a. free morpheme 

b. bound morpheme 

c. functional morpheme 

d. derivational morpheme 

 

12. Functional morpheme comes under the ______ 

a. free morpheme 

b. bound morpheme 

c. lexical morpheme 

d. inflectional morpheme 

 

13. which of the following is not a functional morpheme? 

a. Conjunctions 

b. Prepositions 

c. Articles 

d. Nouns 
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14. Which of these words are lexical morpheme. (i) tiger, (ii) land, (iii) on, (iv) 

because, (v) when, (vi) look, (vii) break, (viii) long, (ix) girl, (x) house. 

a. I, II, VI, VII, VIII, IX, X 

b. IIII, IV, V,  

c. II, III, IV, IX 

d. ALL 

 

15. Which of the following is not lexical morpheme? 

a. Articles 

b. Nouns 

c. Adjectives 

d. Verbs 

 

16. How many inflectional morphemes have in English language? 

a. Six 

b. Seven 

c. Eight 

d. Nine 

 

17. Which morpheme is suitable one to show singular or plural of the word? 

a. Derivational morpheme 

b. Inflectional morpheme 

c. Lexical morpheme 

d. Functional morpheme 

 

18. Identify the morphemes of the sentence ‘The Child’s wildness’  using  (i) 

lexical, (ii) functional, (iii) derivational (iv) inflectional.  

a. II, I, III, IV 

b. I, II, III, IV 

c. II, I, IV, I, III 

d. III, II, I, IV 

 

19. Find out the zero morph of the following. 

a. Book 

b. Dice 

c. Knife 

d. Fly 
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20. How many morphs are consists  in the word ‘buses’ 

a. One 

b. Two 

c. Three 

d. four 


